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' Seetion A (154 2 marks)

Far each quesﬁon four options are giver. One of the opuons is the correct answer, Shade the
cc;rfesci aval €1,2, Jord}onthe Gpimﬁ Answer Sheet: ?tease use any 2@ pem::% aﬂd shaxie ttae
: -Aavai com;;sfefﬂy

t. 2 thousands 2 tens is the same as

(1 202
@) 2002
(3) 2020

@4y 2200

2. is 100 less than 4902

(1} 5002
(2) 48e2
(3} 4800

(4y 3902

3. Whatis the value of 3098 + 51677

() 8155
@) 8165
) 8255

(4} 8265




Amirah; has 7 boxes of cupcakes. Tﬁere are 8 cu;;cakes in each box. How many
cupcakes does Amirah have altogether?

(1) 56

(2) 49

(3) 48

@ 1B

5kma9m= ’ m

(1) 509
(2) 590 .
(3) 5009 -

(4) 5900

How many minutes are therein2h 18 min’?

(1) 238 min -
(2) 138 min
(3} 120 min
¢4) 102 min



7. Arrange the following fractions from the smallest to the greatest.

2 15
3 7 4 7 12
smallest greatest
1 5 2
1 4 ° 12 ' 3
1 2 5
] - .= =
( ) 4 ¥ 3 ¥ 12
2 5 1
3 = =
( ) 3 1 12 1]
5. 2 1
4 2 z i
“ 122 37 4

8. How many of the marked angles in the figure below are greater than a right angle? .

/

(n 1
@) 2
3 7

4 4

N



9. The figure below is a square. The length of AB is 8 cm. What is the area of the square?

B c
8 cm
A D
(1) 64cm?
(2) 32cm?
@) 16 cm? ‘
(4 8om?

10. The difference between two numbers is 870. The smaller number is 1780.
Find the sum of the two numbers. ‘ o

(1) 2450 : -
2) 3120
(3) 4130

(4) 4230

11. Jinny has $249. Karthi has three times as much as Jinny. How much do they have
altogether? '
(1) $255
(2) %498
3) $747

(4) $996



12. Loekat the modet given below. The lengtiy of Bar A and Bar B is the same. -
' Bar B is made up of 3 equal paris.

Ba:Agrsbg g [ 9 + 91 9

. What is the value of the shaded part?

)y 18
@ o
@) 22

4 21

13. A movie starts at 7.25 p.m. Itis now 15 minufes to séven. How lorg will it be beforé the
movie staris?

(£} 30min
() 25min
(3 Akmin

4y 45min

N
3



The bar gfaph below shows the amount of money collected for charity by some:Primary 3.
classes. e . o

Amount of money collected for charity

600

]

500 -
400

Amount ]
300

(&3] s

200

Class.

14, How much more was the greatest amount of mongy collected than the least amount of
money collected?

(1) $840
(2) $580
(3) $320

@) $260



15. The figurs below is made up of 24 rectangles. How many mo’ré rectangles must.be

5
shadead {o show 1—2- ?

m 1
.(2) 6
3 7

@ 10
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‘Section B (15 x 2 marks)

Write down your answers in the spaces provided. For questions which require units,
give your answers in the unils stated. Show all workings clearly.

“16.  What is the value of 9003 — 12797

Ans :

17. What is the missing number in the pattern below?

4930, 4690, 4450 , 4210, 2 |,3730

Ans :

18. _ +$395= %10

Ans: 3%

0o not
write in
this space

@

'
s o i e i



18.

The mass
the bag?

Ans -

of a bag is shown on the kitchen scale below. What is the m

ass of

kg

Sl
-
ciw
it

\ -\3!

20.

Ans

21. Look &
paraltel lines?

HAMLET

Ans:

t the letters below. Which 2 fetters have both perpendicular and

and

Do not
write in
 this space




22, \ihatis the ares of Figure Abelow? , . o Do not
: ) write in
' this space

1cm

Ans’; ' -~ cm?

23, A number when divided by 5 has a quotient of 38 and a remainder of 3.
What is the number? '

Ans:




24. May has 58 stickers. Lynn has § times as many stickers ‘as hér. How many | Do not
sfickers will Lynn have to give May so that both of them have the samé number wnte in
of stickers? this space

Ans :

25, Mindy's watch is six minutes slow. Her watch shows 5 00 p.m. now. What is
the actual time?

Ans: p.im.




Use the bas gfaph below to answer question 286,

The bar graph shows the number of puplls wsmng the d;fferent statzons at the Lower

anary Fun Day.

Lower Primary Fun Day

Station A~

Station B
Stations :
:
. H
Station C .
:
k] 1
H H
; H
I : :
Station D : :
. ,
1 M 3 1]
: : : b
: ! : '
¥ T ]
Tttt

0 50 100 150 200 250 300 350 400 450 500

Number of Pupils

26.  Station D has twice as many pupils as Station .

Ans :

Donat- .

write in
this space’

T
T



27.  What is the missing number?

12

|

o

Ans:

28, Which of the 2 figures below have the same pedmeter?

1em

*

3
g

Aps: Figures

and

Da not
write in
' this space




28. Mrs De\n paid $24 for some apples.

- OO
OO

5 apples for $3

Each statement below is either true or faise from the information given.

For each statement, put a tick (v) in the comrect column.

Statement'

True

False

Mrs Devi bought 40 apples.

If Mrs Devi had bought 30 apples instead, she
would have spent $4 less.

Do not

‘write in

this space




30.  Nurul has 17 notes in her piggy bank. There are only $2 and $5 notes in her. Do not
piggy bank. The total value of the notes is $49. How many $5 notes are there wr_’s’te in
in her piggy bank? ' this space -

Ans :




Section C (20 marks}

For questions 31 to 36, show your workings clearly and write your answers inthe

spaces provided. The number of marks available is shown in brackets [ ] at the end’
of each question or part-question. C

31, There are 980 boys in a hall. There are 395 mare boys than girls in the same
hall. How many children are there in the hall altogether?

Ans: [3]

10

&

4.Donov

write in
this
space







32. Chong and Jill have 180 cookies altogether. Chong has 30 cookies more. fhan Do not
Jill. How many cookies does Jill have? : mrilste n
. o _ | pace

Ans: ' : [31]

11

N






33 Pra\:m Hadiand Larry have 442 stamps aitogether Lamy has four times as many
‘stamps as Hadl. Pravin has 34 more stamps than Hadi. How many stamps: doss |

" Hadi have? -

Ans :

12

0

{3]

‘Po not
write in
‘this
space




34. Xfaohng hangs 10 hght bulbs atan equal distance apart on a wire. The d:s’tance Do not

. Abeiween the 2" and the 9% light bulb is 280 cm. What is the tength of the wire ;’;ﬁe n
used for hanging the 10 light bulbs? . space

: 280 cm

2nd Jight bulb : ' gt fight bulb

Ans .

13



35.

MGS!y had 800 'm! of apple juice for g party at ﬁrsi: She bought another L

10 botﬂes of appte juice for the party Each botﬂe contamed 330 mi of apple

' jg;xe;eF She served the apple juice fo her guests: and-had 590 mi of app!e Juice
“vi‘éﬁ,:i o : . R : L

(a) What was the tatal amount of apple juice she had for the party?

(b)) : How much apple }mce was served to the guests?

Ans: (@) » 121

{b) : [2]

14

-1+ Do) net
. 'wnte in:

this

space -




36. The figures below are formed by sticks. They follbw a pattemn. Do not
: 1 write in
this
space .
Figure 1 Figure 2 Figue3 Figure 4
The table below shows the number of sticks used for the first four figures.
Figure Number 1 2 | 3 4 5 6
Number of sticks used 6 11 16 21 2
{a) How many sticks are used to form Figure 67
(b) Which figure has 66 sticks? -
Ans : (a) [21]
(byFigure __ 12}
End of Paper

15



LEVEL
SCHOOL
SUBJECT
TERM

Section A

PRIMARY 3
CHIJ ST NICHOLAS GIRLS’
MATHEMATICS
SA2

Q3

Q4

Q5

Q6

Q7

Q1 02
3

Q11

Q12

Qi3

Q14

Q15

Q9 Q10
1

Section B
Q16
017
Q18
Q19

7724
3970

$6.05

4 kg 600 ¢

Q20

Wil

116 stickers
5.06 p.m.
Q6 A

Q27 15




Q28

Q29

Q30

Figures P and §
v True

v Félse

5

Section C

Q31

Q32

Q35

Q36

960.- 395 = 565

950 + 565 = 1525 children

180 30 =150
150 + 2 =75 cookies

442 - 34 = 408
408 ~ 6 = 68 stamps

9-2=7
280+ 7 =40

2 x40 =80 .
280+ 80 = 360 cm

(@) 10x 330 = 3300
3300 + 800 = 4100

4100 m} = 4 £100 il

(b)y 4100590 = 3510
23510 mi= 3£ 510 ml

(a) 2x5 =10
21 +10 = 31 sticks

(b) 66-6=60

60+5=12.
12+ 1 = Figure 13

End



